INEERE BEFZ  60m BiER i}

WAl E]IE| Fon - % HI |FE-FHE| ik &
i 1] 1 1089 [#AAR SR [EwELY-3 9.63]+4.1
2 1 2 965|hiE N EE —EBeast-2 9.86]+4.1
3] 1| 3] 1927k E [JAC&IL-3 10.23]+4.1
50 1] 4] 1935|#H ZH |JAC&IL-3 10.52(+4.1
71 1] 5] 1929|8E i{E# |JAC&IL-3 10.68]+4.1
8] 1| 6] 1930[¥EH #h#k [JACE&IL-3 10.78[+4.1

2] 1 203|F%F —EH |=iEREE-2 11.12]+1.4
2| 2 962|FF 41K [~ Beast:3 11.20{+1.4
2| 3| 1934|FEF mFl |JACELL-3 11.22(+1.4
2| 4 700[=#& {FER_ |ASSA-TC-2 11.37]+1.4
2| 5 299|hH [EABH |=ERELE-3 11.59(+1.4
2| 6| 1932|#iFd XZ |JACEIL-3 11.94/+1.4
2| 7] 2523|884 KBB4 A& |ASSA-TC-2 12.18]+1.4
4 3| 1 1127|KJIl_FEK  |F-AGHARE-3 10.47[+2.0
3| 2| 1125|1BAK EFH  |F-LGHEE-3 11.09]+2.0
3] 3 733|AKHA EE A [ASSA-TC-2 11.56[+2.0
3| 4] 1982|&+ X{I&E |JACEIL-2 11.81]+2.0
3| 5] 1928|#A A |JACEIL-3 11.95[+2.0
3] 6 698|h#f XA |ASSA-TC-3 12.04|+2.0
3 7[ 19363RA K& |[JAC&WL-2 12.36]+2.0
6f 4| 1 672|128 M |REEFRC-3 10.58]+0.7
4 2| 1011|fkH %E#E |—Beast3 10.79]+0.7
4] 3| 1124|8% FK |F-LGHEE-3 10.80]+0.7
4] 4] 1123|FEHA ZFRFE  |F-LGHE-3 11.29(+0.7
4] 5]  1128|ILOkRAER |F-AGHakE-2 11.51{+0.7
4] 6| 3382|#iIE L |[FETC-3 12.28[+0.7
5 1 1126|F £ =K |F-LGHRE-2 11.49[+2.3
5| 2| 25354£%F M4 [#5EEAC:-2 11.56]+2.3
5] 3 656| EHH Fth |AEEEARC- 1 12.74]+2.3
5] 4 675[% K 3} [ASSA-TC-1 12.86]+2.3




MNE BF  100m B E
0 [ IE | Fon - # _ HI g 5% 08k &

1l 1] 1 667| L E ¥RE HEEARC-6 13.85|+1.5
2l 1| 2| 1106|HEF KX F-LGHARE-6 14.28(+1.5
3] 1| 3] 1109[lLE#R R ER F—LGHARE-6 14.49(+1.5
4 1] 4 M |FEHER —i5Beast 6 14.52(+1.5
51 1] 5 946|&ZH 5% —iEBeast-6 14.53|+1.5
6l 1| 6 960|FIERKE —i5Beast-4 14.74|+1.5
7l 1] 7 949| L&t K —iEBeast-4 14.79[+1.5
1] 8| 1910|578 £k JACE|LI-6 14.95(+1.5

2| 1 1147|# £ B& F-LGHARE-4 15.36|-0.4

2| 2| 2413|EEL B —/=6 15.40(-0.4

2| 3] 1120(F@%E WEE F-LGHARE-4 15.40(-0.4

2l 4 1113|B% FX F-LGHARE-5 15.51|-0.4

2| 5| 1112|8FH HA F—LGHARE-5 15.58|-0.4

2| 6] 3881|t8M *x&H RETC-5 15.62]|-0.4

2| 7 688| =8 S ASSA-TC-6 16.09]-0.4

3] 1] 1080[hE BEX ERELY-6 15.15/-0.8

3] 2] 1111[/NE B F-LGHARE-5 15.41(-0.8

3] 2 939|A Il #E&E —i5Beast 6 15.77/-0.8

3 4] 2411|HE FOf —/=5 15.98|-0.8

3] 5 27717 S5t =EEL-6 16.02|-0.8

3] 6 690(7k;R #0 ASSA-TC-5 16.06]/-0.8

3 7 684\t A ASSA-TC-6 16.09/-0.8

4] 1 950| LIl B= —iEBeast-4 15.57]+0.3

4| 2 940|FEiE B A —i5Beast 6 15.76(+0.3

4] 3| 2113|EN EF %5857 6 15.77(+0.3

4] 4] 1920|fRER AR JACE -5 15.83[+0.3

4 5| 1921|#2F B&E JACEIL-5 16.07]+0.3

4] 6 686| RE B ASSA-TC-6 16.29(+0.3

4 7| 1146/ T EX F-LGHARE-5 16.32]+0.3

4| 8] 1119[/hl #EFE F-LGHARE-4 16.47/+0.3

5] 1 1913)I1E & — JACEIL-6 15.94|-0.9

5/ 2 641[B811| &KX HEEARC-6 16.08/-0.9

5/ 3] 1115|8B&X B F-LGHARE-5 16.25(-0.9

5| 4] 1908|&£F KiE JACELL-6 16.47(-0.9

5/ 5 685|548 Eth ASSA-TC-6 16.83|-0.9

5| 6] 1116|@AK tHEE F-LGHARE-5 17.47(-0.9

5 71 1121])\H [ER F-LGHAFE-4 18.52|-0.9

6] 1 942|BH A —iEBeast 6 16.45|-1.5

6] 2| 2412|%@E @3 —/=-5 16.48|-1.5

6| 3] 1915/A0 X JACEILL 6 16.55[-1.5

6| 4 653|ARER Hih HEEHRC-6 16.90[-1.5

6] 5 24| =% HE =EELE-S 16.95/-1.5

6] 6 6441f &% HERARC-5 17.14]-1.5

6] 7| 2407|4EEE  BE —/&E-5 17.57(-1.5

7] 1 205|5E BEAN =EEL-6 16.13[-2.8

71 2| 10078 @Eth —i5Beast'5 16.16]-2.8

71 3] 1058[#8F HEX EELESS 16.84[-2.8

7l 4 216|EAR & =EEL-6 16.92(-2.8

7| 5| 2406|{E@k B3 —/=5 17.28|-2.8

71 6] 19198 E3} JACE -5 17.43[-2.8

7l 7 643|JI1dt HE3- HEEARC-5 17.59]-2.8

7] 8 683|{E ik {FIR ASSA-TC-6 17.88|-2.8




8| 1 652|EMH BEH HEEARC-6 15.99(+1.8
8l 2 673|5H #WE A FEEMRC-6 16.10(+1.8
8l 3] 1907[JIIE #EEE JACEILL-6 16.98]+1.8
8| 4 687| ML EFEXN ASSA-TC-6 17.04[+1.8
8] 5| 2522|lLA& R —/=-6 17.14+1.8
8l 6 639|mJIl {HEE HEEHRC-6 17.38]+1.8
8l 7 691 FZHEKXR ASSA-TC-5 18.25|+1.8
9] 1 279|B L mEs) =EELE-S 16.63]+0.8
9] 2 954|/NEH  Z5h —iEBeast-4 16.70/+0.8
9] 3 956|&BfE R —i5Beast-4 16.75+0.8
9] 4] 1981|&* EFI JACEIL-5 17.01[+0.8
9] 5| 1918|E=# FEE JACEIL-5 17.08[+0.8
9] 6 955|BsH =3 —i5Beast-4 17.37/+0.8
9] 7| 2410|Ek FE —/&-5 17.37[+0.8
9] 8 642|[E 4 IE A ZEEEARC-5 17.41]+0.8
10] 1 958| =18 ZTK — & Beast-4 17.04+2.3
10 2 280|748 —ERpELE-5 17.19]+2.3
10l 3 281|5MH EA =EELE-S 17.25(+2.3
10 4 2781k #HI =EpEL-6 17.80[+2.3
10[ 5| 1085[IEM ®E ERELESS 18.32(+2.3
10 6] 1911/ Fid JACE L6 18.68]+2.3
10 7] 2408[# X% —/=5 18.70(+2.3
10/ 8 665 1TH HiE B EEIRC-5 18.74(+2.3
11 1 645\ F5H thim HERARC-4 15.92]+4.9
11 2[ 1o070({E@l EH— EELEY-6 16.52(+4.9
11 3 961|ILH X —i5Beast-4 16.77(+4.9
11] 4 694|¥7H £ ASSA-TC-4 17.39]+4.9
11| 5 953| K&F% B —i5Beast-4 17.47(+4.9
11] 6 959| =R —i5Beast-4 18.17]|+4.9
1] 7 693K & ASSA-TC-4 18.32+4.9
11] 8 952| KRt EH) —5Beast 4 19.28(+4.9
12| 1 303|ARER 24 =EELE-S 14.93]|+1.8
12| 2|  1069[#A%& BRA& EELESS 15.95[+1.8
12| 3| 2576[{#@ = A FEEMRC-6 16.01]+1.8
12| 4] 1068|A R EEES-6 17.06]+1.8
12| 5 695|% K HEE ASSA-TC-4 17.47|+1.8
12| 6| 2577(%@ F A EEARC:5 18.12|+1.8
12| 7 697|% j(,a ASSA-TC-4 18.58]+1.8
13] 1 654\t H BE B ERARC-4 16.68]|-2.4
13 2| 3922(FJIl BB WpHHMERC: 16.92|-2.4
13| 3| 2404|#Hi REXER $#HEEAC 4 17.15|-2.4
13| 4| 3383[@E)Il Al FETC-4 17.72]-2.4
13] 5 674|2K HEFE ASSA-TC-4 18.28]|-2.4
13| 6 738[/NE A3 ASSA-TC-4 18.67|-2.4
13 7 696 | ¥y O E T BA ASSA-TC-4 18.86(-2.4
14| 1 282|INE [51E —ERpEL-4 16.60]+0.2
14| 2 655 BEE A EEARC-4 16.75]+0.2
14 3 7128| N K& ASSA-TC-4 17.89(+0.2
14| 4] 1926|XEH BN JACE -4 18.02]+0.2
14| 5 732|KH EiE ASSA-TC-4 18.89(+0.2
14 6 121X = ASSA-TC-4 19.24(+0.2
14| 6 951 | KA R 3} —iEBeast-4 19.47[+0.2




N BHFE 800m R
# ] IE | Fon— % HI FilE -4 i
il 1] 1 641|821 88K |HEENRC-6 2.37.19
2l 1 2 652|B0FH FEM |HZFEEMRC-6 2.37.42
3] 1] 3| 1921|#2F BEE  |JACE&LL-5 2.43.57
4 1| 4 653|ARER HiE | B EFEMRC-6 2.43.70
50 1] 5 276|F PN =EREEL-6 2.44.30
6l 1| 6 1913118 #— |JACELL-6 2.44 .40
N 1] 7 684|thH Al ASSA-TC-6 2.45.38
1| 8| 1080[HE #EAK [E#ELY-6 2.46.43
11 9] 1915(80 X@ |JACELL-6 2.50.92
11 10| 1918|E+t HEXE |JACEL-5 2.50.93
1| 11 639|mHJIl HEE | HEEMRC-6 2.51.44
1| 12 640|{FiE & |HZFEEMRC-6 2.51.64
1] 13 277|Fk SN0 | =/EREL-6 2.51.64
8l 2| 1 673|5H #@WE |[HRZFEMRC-6 2.46.31
2| 2 643|114t f23 | HEFEEMRC-5 2.48.90
2| 3| 1113|BE FAK |F-AGHEE-5 2.55.35
2| 4] 1020|E#+t BE  [ERPELES-6 2.57.87
2| 5 6441 5  |BZFEIRC-5 3.04.07
2| 6 685|545 Eth |ASSA-TC:-6 3.07.99
2| 7 281(BEH BA [=/ERELE-S 3.11.56
2| 8] 1112|EFFH MA  [F-LAGHARE-5 3.18.09
2| 9] 1106|HE K |F-AGHE-6 3.25.18
2| 10|  1109| U OERARER |F—AGHARE-6 3.25.27
3| 1] 939|&JI| #e% | =Beast 6 2.46.56
3[ 2 690|7k;FA #1ZF |ASSA-TC-5 2.48.54
3| 3] 1115|8BA& {1835 |F-LGHARE-5 2.48.58
3| 4] 1058|#H MK [EELES-S 2.52.90
3| 5] 2577|&fH iE  |RZEEEWRC-5 2.52.90
3| 6] 1111/hE IEAIE  |[F-LAGHARE-5 2.58.95
3| 7 1146|ET HEX [F-LAGHAEE-5 3.01.27
3| 8| 1116|#EAK thEE |F-LAGHARE-5 3.09.34
3l 9 642|[E 4t IF* A EEFRC-5 3.13.16
3] 10 279|BaL MEsl | =EREEE-S 3.13.71
3| 11 1027|/Fill BE  |EBELD-5 3.19.58
3] 12 665|7TH FHTE |HZFEEMRC-5 3.22.01




=2 BEF¥  80mH FERiER i}
WE [ B L fon- % HI FiiE -4 S0 5% =
1 1] 1] 4 946|%H 5% | —5Beast 6 13.84|-15
2l 1| 2] 3 667| tE IHE |HBZEERRC-6 16.79|-15
3] 1| 3] 5 948| KA JIl i@ | —EBeast-5 17.13]-1.5




MNE BF  EEB R
el yNmme on—[ & i g -FE 508X
3 1|  2576|fRH 2 | R ZEMRC-6 1m00]
1 2] 1910(FFa Fak [JACELL-6 1m 10}
2 3| 1026[/KREE K [EBEED-6 1m05}




N BF  FEMEB FifE R
RN C- ] 25 ik | &
Al 1] 17] 1981|&Rt EF| JAC&ILL-5 2m59(+0.6
Al 2] 19] 1027|BlL BE ERELES-5 2m52(+0.4
Al 3] 16 691|FLE EAX [ASSA-TC-5 2m70/[0
Al 4] 14] 1920|BREF ARt JACEIL-5 2m85/0
A 5 9|  2407|{kEE BE —/&5 3m06|-0.5
A| 6| 18] 1919|181 E3} JACEIL-5 2m>58[+0.1
Al 7] 15| 1085|IEMH RE ERELESS 2m72|0
A 8| 10| 1007/ Et —i5Beast:5 3m06|0
A 9] 11 686| RE AR ASSA-TC-6 3m00/0
Al 10| 13] 1907|)IlE 3RER JACEIL-6 2m87|0
Al 11] 5 688 =8 S ASSA-TC-6 3m42[-0.1
Al 12| 7] 1914[FEE K JACE&IL-6 3m23|-0.5
Al 13] 12 683|1EBk {FIX ASSA-TC-6 2m99[-0.2
Al 14| 8 687[F1% % EAX |ASSA-TC-6 3m20|-0.5
Al 15/ 6 942|BH A —i&Beast-6 3m25(-0.5
Al 16] 2 940(FEiE B A — & Beast 6 3m77[0
Al 17] 4] 1020+ B EELS-6 3m50(-0.5
Al 18] 1 9 |FEH FH | —5Beast 6 3m88[+0.4
Al 19] 3| 2113ER &EF 25R957-6 3m62|0
Al 20 1019[85 K XK ERELY-6 DNS




RE_ Kouls  gmes

o=l o B I P £ I g 48 S0 5%
sl Al 1] 8] 2410|8Bxk #HE —/&-5 36m02
A 2| 4] 2522[lLAK RHE —/=-6 38m53
JA] 3] 1 303|ARER 2 =EpEE-5 49m58
A Al 4 2 205| 5 BEA =EpELE-6 46m45
Al 5] 11 1911 |FEM =i JACEIL-6 32m?26
Al 6] 10] 1908|&F KiE JACEILL-6 34m20
Al 7] 9 280|F% B =EpEE-S 34m30
Al 8 7 278|1kBR #hit =EREL-6 37m67
A 9] 5 640|{Rk  I& A ZEEMRC 6 37m98
Al 10l 6 24|58 AE =ERELE-5 37m87
Al 11l 3] 2413l B —/=-6 46m19




